
 
27. Find the equivalent resistance between points A and B in the drawing. 
 

 

 
Always start away from where you are trying to find the resistance between.  So we begin 
by combining the 1Ω, 2Ω, and 3Ω in series. 
 

𝑹𝒆𝒇𝒇𝟏 = 𝑹𝟏 + 𝑹𝟐 + 𝑹𝟑 = 𝟏. 𝟎𝟎 𝛀 + 𝟐. 𝟎𝟎 𝛀 + 𝟑. 𝟎𝟎 𝛀 = 𝟔. 𝟎𝟎 𝛀 

 
Our circuit becomes 

 
Now we combine 3Ω and 6Ω as parallel resistors  
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=
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𝑹𝒆𝒇𝒇𝟐 = 𝟐. 𝟎𝟎 𝛀 

Our circuit now looks like 

 
Now combine the 6Ω and the 2Ω in series 
 

𝑹𝒆𝒇𝒇𝟑 = 𝑹𝟔 + 𝑹𝟐 = 𝟔. 𝟎𝟎 𝛀 + 𝟐. 𝟎𝟎 𝛀 = 𝟖. 𝟎𝟎 𝛀 

 



Redraw our circuit 

 
Now add 4Ω and 8Ω in parallel 
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𝑹𝒆𝒇𝒇𝟒 =
𝟏

𝟎. 𝟑𝟕𝟓 𝛀−𝟏
= 𝟐. 𝟔𝟔𝟔𝟕 𝛀 

 
Next circuit looks like  

 
So finally have two resistors in series so total resistance is  
 

𝑹𝒕𝒐𝒕𝒂𝒍 𝑨𝑩 = 𝑹𝟐 + 𝑹𝟐.𝟔𝟔𝟕 = 𝟐. 𝟎𝟎 𝛀 + 𝟐. 𝟔𝟔𝟕 𝛀 = 𝟒. 𝟔𝟔𝟕 𝛀 
 

𝑹𝒕𝒐𝒕𝒂𝒍 𝑨𝑩 = 𝟒. 𝟔𝟕 𝛀 
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